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manual counting of composites -->
calculated amount of composites -->
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6 prime numbers ...
.. create 20 triplets that are the simpe ...

I I
| | 6 prime numbers ... |
| | ... creates 15 couples (Cs2) |
I I
I I

the number "1" must be added manually, being it a special number (not prime) ..and then Cn,k = n! / (k! * (n-k)!)
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| manual counting of prime numbers (just to validate the algorithm)

the gratest prime number to be considered in counting of composite numbers is the closest one less than the root square of the top number of the given range ...
... and so we stop up to 13 because 1322=169 that is < 210, meantime excluding 17 because 1722=289 that is > 210

... combinations without repetition of 3 elementsin 6 ...
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(2*3*11) (2*5*11) (2*7*11) (3*5*11) (3*7*11) (5*7*13) (2*3*13) (2*5*13) (3*5*13) (2*7*13) (3*7*13) (5*7*13)
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(2¥11*13) (3*11*13) (5*11*13) (7*11*13)

273 455 286 429 715 1001

| when the result of the product, overruns ...
| ... the given range, we can skip the division, ...

| ... because the result is 0, and remaining divisions too

(2*3*5%7)

210
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-1

210 -  <---total amount of numbers in the range
-1 164 <--- total amount of composite numbers (manually counted including the number 1 that's a special number)
-1 46 <--- total amount of prime numbers in the given range

| 4 prime numbers ...
| ... create 1 quartet ...
| ... (and no need to go on because any product will overrun the boundary)



